Solve using the principles together. Check your answer.

8y —7=23-2y

The solution is y = D

{Type an integer or a simplified fraction.)

Solve using the principles together. Don't forget to check.

9
Solve S= '4—N + 36 for N.

2.
7(5x+9)=18—(x+9)
The solution is x = D
(Simplify your answet.)
1, Solve,
20v2+v=12
4, Solve.
40=t{t—6)
5. Solve the following equation.
3x*—15=0
6.

The solution(s) is/are v = D
(Simplify your answer, Use a comma to separate
answers as needed.)

t=]

(Simplify your answer. Use a comma to separate
answers as needed.)

The solution{s) is/are D
(Type exact answers, using radicals as needed.
Use a comma to separate answers as needed.

Type each solution only once.)

Choose the correct answer below.

9
QA N:ISﬁ36

4
Bl NZES—36

OB, N:%(S—SG)

(3D N= %(s— 36)
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12.

i3. Subtract and simplify.
W 8
w2-2w-3 w+tl
W 8
wi-2w—3 wtl =L
4. Add. Simplify by removing a factor of 1 when possible.
Tv+2 9
3 +t—3
4v —8v—60 4v —24v+20
The sum is D
(Type your answer in factored form if factorable.)
15. Simplify.
3
y X
1 1
— + —
y X
x_ Y
y X
1 1 D
— + —
y X
16. Simplify.
ISUR I
2
-n* =[]

Perform the indicated operation. Simplify, if possible.

6 6

x2-9 x+3

The difference is D
(Simplify your answer.)
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23.

Simplify.

Which term represents the simplified form of 125

. i
A —

(W]

1
12

B,

3

V125
(3C. —35
oo Viz5-!

1/39

24,

25,

Simplify and write in radical notation.

SARICO

Choose the correct simplified form of (5a3/ 5 (2a8 /Sy wwritten in radical notation.

OA.
()B.
3C.
'S

xS!?

¥

5
10a Va"
1039/5

10&5/9

1025

13714

x—2/7 1/2

y

Simplify and then write radical notation.

X5/7y13/14
X—2/7yl/2
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